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Note : There are THREE sections in the paper A, B and C.

(i) QFA-T 5 797 G&IT1 & G 10 9777 & IR ST | I Y7 W 37 7 2
vq @41 10 5777 TGI8 FHR S I & 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) BFIT-8 F 8 Fv71 B @ 1557 6 5v7) & IR HTT | T F97 3 37 T & 0
FTHT5 M /50 Feg) 5 3% Aforw |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) \RA-8 % 6 T791 7 8 fhegT 4 To71 3 IR ST | 5% 577 8 37 %7 & 05
591 15 8T / 150 Ieg1 4 Fo7 9/ /

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() T AFH S G I B FHIR TF T 5 7T |
Solve all the questions of a section consecutively together.
(vi) G 13T 7 3R 54 %1 R 7 S5 sgare & w8

Only English version is valid in case of difference in both the languages.

YR/ - T
Section — A
1. (i) U 2 g9 i 39 gd & &9 § gRniva fmn srar 2
(a) TEfigaE | (b) IfrEwEEE |

(c) IrEHigd el | ) smErfied @ R-wE A |

An ideal fluid is defined as the fluid which

(a) is compressible (b) is highly viscous
(¢c) 1isincompressible (d) isincompressible and non-viscous
"ol
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(i) TS 3T B
(2) S T (b) TSt SeTaT
(c) AT (d) ST e
Poise is the unit of
(a) mass density (b) kinematic viscosity
(c) viscosity (d) velocity gradient
(iii) Tidey GEfeTor 8
@ AV, =AYV, ®)  pAV =p AV,
(©  PA =pA, d) PAV,=PA,V,
Continuity equation is
(@ AV, =AV, () pAV =p,AV,
©) pA =pA, d PAV,=PA,V,
(iv) 59 1 98 FaTg frem g ot ot T % |1y st 2, saerd)
(a) UGt yarg (b) i yarg
(c) THF JaTE (d) ITE9E a8
The flow of fluid in which the rate of flow varies with time is called
(a) Steady flow (b) Unsteady flow
(¢) Uniform flow (d) Non-uniform flow
(v)  Seglefiet a2
(@) BT (b) TAHIT
(c) T BT formela (d) UTSYATS BT SR
Venturimeter measures
(@) Velocity of fluid (b) Pressure of fluid
(¢) Discharge of fluid (d) Pressure difference of pipeline
(vi) ﬁmﬁ«tﬁaaﬁé%af@ﬁﬁﬁ&ﬁﬂﬁwwaqﬁnﬁﬁwmmé ?
(2) Taufar yarg (b) 3Erfig yaE
() Iuiadf yarg (d) i varE
In which of the following conditions can the Bernoulli equation not be used ?
(a) Viscous flow (b) Incompressible flow
() Steady flow (d) Laminar flow
(Vi) 9TE9 T H=1RA Wt 1 A Srfream aa B9 St fes e 3 T % B g afa
(h) 9 $a 3 (H) 4 gag B
(a h=H/3 (b) h=H2
(¢) h=2H/3 (d h=H/A4

The condition for maximum power transmission through a pipe is, when
relation between head loss due to friction (h) and total head (H) is

(a h=H/3 (b) h=H2

(¢ h=2H/3 (d h=H/M4
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(viii) TS9 H FeTg 9d &L 9id BidT @ Afe
(a) oS deK 4000 % SR 2 (b) TS T 2000V HT 2
(c) ¥ies Fs) 2000 ¥ ST B (d) TS 981 4000 & ST R
The flow in pipe is laminar if
(a) Reynold number is equal to 4000
(b) Reynold number is less than 2000
(¢) Reynold number is greater than 2000
(d) Reynold number is greater than 4000

(ix) U] 99 g9 Y9 @l 2

() @ ©) FRE

(¢) a@d (d TFRi=A

In a centrifugal pump the liquid enters the pump

(a) Atthetop (b) At the centre

(c) At the bottom (d) From sides

(x) SATIRFA USRI T smiea e ?

(a) A&l yearrg uw (b) 3TUHZ T

(c) ST (d) T g

For small discharge at high pressure, which pump is used ?

(a) Axial flow pump (b) Centrifugal pump

(c) Vane pump (d) Reciprocating pump
Qe — &t
Section — B

2. =g < YA Rl TwEsy |

Explain Newton’s law of viscosity.

3. Y W1 U GRS gRig Hif |

Define path line and stream-line.

4. Zah! Grgol HAT H Y 6 THAA B 7

What do you understand by total energy of fluid ?

5. SRl A %1 39ErT fafad |

Write the use of Darcy’s formula.

6.  ITIHIIVI I U |

Explain priming.

7. AT UF UE 39ehed] 999 H 37T ST |

Differentiate between Reciprocating pump and Centrifugal pump.
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8.

10.

11.

12

13.

14.

15.

AU e quT e gt afefia SHifve |

Define atmospheric pressure and absolute pressure. A3

LA U= erammdt g 27" 919+ sl §HEsy |

Explain pressure measurement by simple U-tube manometer. 3

QM — it
Section — C
ST S < € ST < T THETsy |

Explain two applications of Bernoulli’s theorem with neat sketch. t))

Tt 1 fietor SR | STt du S w9 et fagia o i av S |

Classify pumps. Explain the construction and working principle of reciprocating
pump with neat sketch. )]

TSI | g arelt e i erfa we 3ty s et Y wmeew |

Explain friction head loss and other head losses occur in pipeline. 8)

= 8 s HIRR
Differentiate between the following : (4x2)
() ouiad! g giad] yarg

Steady and unsteady flow

(i) THH 9T A a8
Uniform and non-uniform flow

Th UTEIATS o gl Rl (1) T (2) S ShAST: 15 om 99T 7.5 om & | &gt T4 (1) fepeft
T H 6 m 71 BIeT R (2) 7 § 3 et = w2 | R (1) WA 3.6 7 /A, 2 AR
(2) W STt gre e e g 3 Hife, I R (1) wers 100 bar B |

A pipe line is having diameters 15 cm and 7.5 c¢m at sections (1) and (2) respectively.
The big end (1) is 6 m above datum and small end (2) is 3 m above datum. The
velocity of water at section (1) is given 3.6 m/s. If the pressure at section (1) is 100

bar, find gauge pressure and absolute pressure at section (2). (t))
frferiaa w wfirm fewoft fafaw .
Write short notes on following : (4x2)
() FrrRum

Gear pump

(ii) Erdor o RT3 g o fore <sh 61 T

Chezy’s formula for head loss due to friction.




